
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

7.674 × ________ = 7674 8.271 × ________ = 82.71

4.873 × ________ = 487.3 2.522 × ________ = 2522

2.363 × ________ = 23.63 1.936 × ________ = 19.36

8.232 × ________ = 823.2 10.612 × ________ = 106.12

5.871 × ________ = 58.71 3.737 × ________ = 37.37

10.478 × ________ = 104.78 4.19 × ________ = 4190

5.691 × ________ = 569.1 4.851 × ________ = 48.51

4.763 × ________ = 4763 9.501 × ________ = 950.1

6.683 × ________ = 66.83 3.615 × ________ = 36.15

9.622 × ________ = 96.22 3.806 × ________ = 38.06
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

7.674 × 1000 = 7674 8.271 × 10 = 82.71

4.873 × 100 = 487.3 2.522 × 1000 = 2522

2.363 × 10 = 23.63 1.936 × 10 = 19.36

8.232 × 100 = 823.2 10.612 × 10 = 106.12

5.871 × 10 = 58.71 3.737 × 10 = 37.37

10.478 × 10 = 104.78 4.19 × 1000 = 4190

5.691 × 100 = 569.1 4.851 × 10 = 48.51

4.763 × 1000 = 4763 9.501 × 100 = 950.1

6.683 × 10 = 66.83 3.615 × 10 = 36.15

9.622 × 10 = 96.22 3.806 × 10 = 38.06
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